(1) ZRIELERREDRELL

0.04 S 100 L gie i
0.035 - 90 SERE(%)
- 80
0.03
~ - 70
g 0.025 L o
g 002 | 5o T T BRRERE
7y SPEdpES
B 0015 L 40 e BHEEERE
Ly 39 ———REETHIE
0.01 50 —E-BHRETHIE
0.005 L 10
0 )
H4 H6 H8 H10 H12 H14 H16 H18 H20 H22 H24 H26 H28
(BE) _BEEROEREELERUHIEEBERE
7 IRIER A _ _ i
R I K & £ B 89 3F i

B EIED 1 | ETZﬁJ{IEfJ‘O.O%pm?ﬁ‘B
0.06ppmETRDY —VARIEZFNLT

1 B 1B D FE[5198% 1 H30.06ppm L T

4 HIRGEHEE

IR IE B 2 B

H T 151 0) & 5198%{E H30.04ppm LA T

() RIEFEAFT LI UNREDRELL

0.04 100
= RE (%)
0.035 - 90
- 80
0.03

" 70 e BFRAERLE

- 60

——— R ETE
(BEOEE®)

A0 —m-RIBAEERE

- 30

- 50

- 20
- 10

0

H4 H6 H8 H10 H12 H14 H16 H18 H20 H22 H24 H26 H28

ZE)RIFAX A DRI ERE

R IR B O£

o

1B REEHY0.06ppm L T

TR (5B% ~ 208%) D BFEl =45 LV C .
1B RS{E AY0.06ppm LT




Q) MM FIRYMEREOREL

25 100
B
90 ERRE(%)

20 —F+ 80

- 70

— 40

)

%, 15 —+ 60

= | T —RBERE
T

B

&I.

- 30

BHEERERE
——— R B ETE
20 —B-EHERETHE

5 2 —
- 10
0 0
H19 H20 H21 H22 H23 H24 H25 H26 H27 H28
(B2) MM TR E DIBHS e ) _
R 5 E % E D B O m

1EEHEMI5 U g/m LT THY.
MO I B EMEMNIS ug/m’ LT

1 EEHENEPHEEDIS U g/m° LT
HY. MO, 1 BEHEDEREIS/ N\—E
B EDEEARAEDIS 1 g/m° LT




